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Q.1 Water drips out of the

nal
;

5

4. % = —an+ fin*
Options 1.1
2.2
3.3

4.4

Question Type : MCQ
Question ID : 3398932061
Option 1 ID : 3398938013
Option 2 ID : 3398938014
Option 3 ID : 3398938015

Option 4 ID : 3398938016
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CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772
Email: cmscsirnet@Tail.com

Q3 (overnor : State : :
1. ship : captain
2. admiral : navy
3. jail : prisoner
4. student : teacher

Options 1. 1
2.2

3.3
4.4

ouseataprlcel’an tio.
Kincurring a loss of 10%. As a rest
pf 11 % of P
of 10% of P
11 % of P
"gains or loses

Q5 Three metal cubes whose diagonals are V3,63 d 8v/3 units resp
melted to make a new cube. The side of the new cube would be

1. 15 units

2. 10v/3 units

3. 15v/3 units

4. 9 units
Options 1. 1

2.2

3.3

4.4
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Question Type : MCQ

Question ID : 3398932069

Option 1 ID : 3398938045

Option 2 ID : 3398938046

Option 3 ID : 3398938047

Option 4 ID : 3398938048

Status : Marked For Review

Chosen Option : 4

Q.6 Which of the following graphs correctly shows the gr of a sapling to
a mature tree?
1. 2.
T—
3
= y
Options 1.

4

osen Option :

&
=
<
=
(= 4
o
L=

Q7 positio with num g on its

faces, Thenthemumber.6 ap rem— ite't - Q
N CSIR NET&ISS

ol

SINCE 200%

W -
B

4.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3398932070
Option 1 ID : 3398938049
Option 2 ID : 3398938050

Option 3 ID : 3398938051
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CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772
Email: cmscsirnet@gmail.com Option 4 ID : 3398938052
Status : Marked For Review
Chosen Option : 2

Q.8 In a group of researchers Biologists are thrice as many as Chemists whereas the
Physicists are twice as many as Biologists. If there are 5 Chemists in the group,
what is the total number of these three types of researchers?

1. 30

2. 45

3. 50

4. 75
Options 1. 1

2.2

3.3

4.4

Options 1. 1
2.2
3.3
4.4

§ 1 3398932068
Option 1 ID : 3398938041
Option 2 ID : 3398938042
Option 3 ID : 3398938043
Option 4 ID : 3398938044

Status : Not Answered
Chosen Option : --

Q.10
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“The father of my biological son 58"t TR VREHERARLEParents.”

The statement can be true

1. under no condition

2. only if a woman says so

3. only if a married man says so

4. only if an unmarried man says so
Options 1. 1
2.2
3.3
4.4

OQuestion Type :

Q.12 The straight line y, =4

0 1o 450,
1. do not intersect at all.
2. touch cach other at only one point.
3. intersect at 5 points.
4. intersect at 10 points.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ

Question ID : 3398932064
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Option 1 ID :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

3398938025
3398938026
3398938027
3398938028
Not Answered

Q.13 In an examination, if more than 15 questions are attempted, only the first 15

questions are answered correctly in the first fificen attempred?

1, 9
2. 10
3 I
4. 12
Options 1.1
2.2

3.3
4.4

attempted ones are evaluated. Answers are awarded + 2 marks if correct and - (.5
ifwrong. A candidate answers 19 questions and gets 15 marks. How many

Option 31D :
Option 4 ID :
Status :

: 3398938066
on 31D :
Option 4 ID :

Status :
Chosen Option :

398938065

3398938067
3398938068
Not Answered

Q.15
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Which of the following graphs shows E®3}c6@26IMRIREMAREONOf a ball
thrown up from the Earth and falling back vertically?

—-— speed - --- gcceleration
& P / 2 |[Bs g
N @ o
N/ Z e
0,0 ¢ 0,0 t
3 \ f-‘ L T I
% F ¥ N\

Options 1.1
2.2

¢ population (solid line) and the Gross Nai
[a country over several vean

MCQ
3398932058
3398938001
3398938002
3398938003
3398938004
Not Answered

Options 1.1
2.2
3.3
4.4

Question Type :

Question ID :

Option 1 ID :

Option 2 ID :

Option 31D :

Option 4 ID :

Status :

Chosen Option : --

27th Dec 2019
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Q.17  An LED bulb costs 5 times as much as a filament bulb but consumes only 1/5 of
electrical power. I C is the cost of the filament bulb and P is the electric power
tariff, the extra cost of the LED bulb will be recovered (in comparison to the
filament bulb) in usage time of
1. 5years
2. 5P
3. CHP
4. C/P

Options 1. 1
2.2
3.3
4.4

"I_ da‘_!oﬁg; to f one gra
ing a new [riend at every trip
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A hollow paper cone of height H and BHa ERSGANEHR eI ine and
opened to form a sector of a circle. The angle subtended by the sector
(in radians) is

4“.

Options 1.1

Question Type :
Question ID :
ption 1 ID :

Options 1.1
2.2
3.3
4.4

Question ID : 3398932072
Option 1 ID : 3398938057
Option 2 ID : 3398938058
Option 3 ID : 3398938059
Option 4 ID : 3398938060
Status : Marked For Review
Chosen Option : 2

Section : Part B Mathematical Sciences

Q.1
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LetA = (} ;) be a matrix. Which of the following is true?

1. A=A
2. A =44 =
3. A=A

4, A% = Id (2 x 2 identity matrix)
Options 1. 1
2.2
3.3

4.4
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Let @ > 0 be a real number;"Thé&pscsimet@gmail.com

rlai—m:n“"'i (19 + 2%+ -+ n%)is
1. oo

2 equalto 0
3. equalto 1
4

; positive and strictly
Optﬁ

Chosen Option :

Options 1. 1
2.2
3.3
4.4

Question Type : MCO

Question ID : 3398932088

Option 1 ID : 3398938121

Option 2 ID : 3398938122

Option 3 ID : 3398938123

Option 4 ID : 3398938124

Status : Marked For Review

Chosen Option : 1

Q5
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Let f: R - R be a continuous function &W8aH;, §MSCHENCHAGNEH -§8Fence of

real numbers. Then which of the following is true?
L liminf f(x) = f(linm_)iarolf xn)
Z. limsup f(x,) = f (lirn sup xn)

n—c0 n—oo

3. liminf f(x,) <limsupx,
o n-oo

4. liminf f(x,) < f (liminf x, )
Options 1. 1
2.2
3.3
4.4
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Let x > 100 be a given real number, whiclF'adi SMSESERCL@ GrpaiHeod:
of all rational numbers r < x of the form
r=fl+B+ 2442

for some natural number n = 1, where a;, ..., a,, are integers such that 0 < a; <9

and [x] denotes the largest integer < x. Then which one of the following is true?
P MR S is infinite and the supremum of S is x

2. S is infinite and the supremum of § is an integer

3 S is finite and the supremum of S is x

4. 3is finite and the supremum of § is an integer
Options 1.1
2.2
3.3
4.4

- Q(x,y,z) on R®, LetEy =\
e following is £, a bounded subset of R

(et y?2 + 7"

3038127
3398938128

Q.9 Let R denote the set of real numbers and X be a non-empty set. Let ¥ be the
set of all functions from R to X. Then which of the following is true?

1. If X is finite, then Y is countable
2, Y is always infinite
/ If Y is infinite, then Y is uncountable
4. If Y is uncountable, then X is uncountable
Options 1. 1
2.2
3.3
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Question Type : MCQ
Question ID : 3398932078
Option 1 1D : 3398938081
Option 2 ID : 3398938082
Option 3 ID : 3398938083
Option 4 ID : 3398938084

Status : Not Answered

Chosen Option : --

Question Type :
Question ID :
Option 11D :

ion 2 ID :

8 A is invertible = dim V; =dim V,

4, A is invertible = dim V; =dim V;
Options 1. 1
2.2
3.3
4.4

[ Question Type : MCQ ]
27th Dec 2019 - {14)




CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772

Email: cmscsirnet@gmail.com

Question ID :
Option 1 ID :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

3398932085
3398938109
3398938110
3398938111
3398938112
Not Answered

Chosen Option : --

What are the co-ordinates of (1, 2, 3) with respect to this basis?

1.

4.
Options 1.1

Options 1.1
2.2
3.3
4.4

(- 1?-. b % 3)
(=1,=1,3)

Q.12 Consider the ordered basis v, = (1,0,0), v, = (1,1,0), v3=(1,1,1) of R%.

Option 31D :
Option 4 ID :

Question Type :
Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 3398932092
: 3398938137
1 3398938138
: 3398938139
1 3398938140
: Marked For Review

1

Q.14

27th Dec 2019 - {15)




1.
2.
3
4.

Options 1. 1
2.2
3.3
4.4

CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772

Let S5 denote the symmetric group on 55ER8IL. COWBRHr L@ WNEHiRg R

always true?

If o € S5 is a k-cycle, then o' is also a k-cycle forall2 <k <5and i=1.
Ifo,7 € S5 have both order 5, then ot also has order 5
Any 3-cycle in S5 can be written as a product of two 5-cycles

Any 2-cycle in S5 can be written as a product of two 5-cycles

atements is true?
tinuous butﬁ I8 Not oI

fz are closed maps
24 | £ixy) = Aoy}

1

Z.

3.

4.

Options 1. 1

27th Dec 2019 - {16)




CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772
22 Email: cmscsirnet@gmail.com
3.3
4.4

Question Type : MCQ

Question ID : 3398932093

Option 1 ID : 3398938141

Option 2 ID : 3398938142

Option 3 ID : 3398938143

Option 4 ID : 3398938144

Status : Marked For Review

Chosen Option : 3

Option 3 ID :
Option 4 ID :

Q.18

e
3. (@-1/(g-1)
4.  ¢*-1
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 3398932096
Option 1 ID : 3398938153
Option 2 ID : 3398938154
Option 3 ID : 3398938155
27th Dec 2019 - {17)




CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772
Email: cmscsirnet@gmail.com Option 4 ID : 3398938156
Status : Not Answered
Chosen Option : --

az+2

Q.19 For which value of a among the following does f(z) =
planeH={z€ C:z=x+iy,y > 0} to H?

1 1

2. 3

3. 5

4. 7

Options 1. 1

2.2

3.3
4.4

map the upper half

3z+1

the ring Z/(11 Z) and let R, be th i
ser of ideals in the product ring Ry X R;

omomorphisms Ry = Ry sending 1 to 1

"of ring hemomorphisms R = R, sending1to.

Options 1.1
2.2
3.3
4.4

Question ID : 3398932094
Option 1 ID : 3398938145
Option 2 ID : 3398938146
Option 3 ID : 3398938147
Option 4 ID : 3398938148

Status : Not Answered
Chosen Option : --

Q.21
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Let |£(x)| < 4|x]| for x € R. The largesEpRLIORSSRIESI@AMANRRR +' (1) =
f(x(@®),t>0,x(0) =3, is

1. 3e*

2. 4¢3

3. 12e3

4. 12e*
Options 1. 1

2.2

3.3

4.4

Option 2 IB
Optio D : 3398938179

on 4 1D : 3398938180
Status : Not Answered
Chosen Option : --

Q.23
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If @: [0,1] —» R is continuouS Bhd&SHEEgomail.com

x
[ - oro@ar=xt 4,
1]

then (1) =
1 18
2. 30
3. 42

4. 48
Options 1.1
2.2
3.3
4.4

Option 31D :
Option 4 ID :

nd v(x,y,2) = C; betwol leper

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID : 3398932101
Option 1 1D : 3398938173
Option 2 ID : 3398938174
Option 3 ID : 3398938175
Option 4 ID : 3398938176

Status : Not Answered

Chosen Option : --

Q.25
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Let§ = (qy, .., qn) be the generalized EBBHKiIFANSS SIHASH@IPAIL.COM pe the
generalized momenta of a system. Let the Poisson bracket of two quantities
f, g be denoted by [f, glz and the Hamiltonian of the system be H. Then
which of the following statements is true?

1. Iff;—f =0,[H,flgs = 0then f is a conserved quantity

2, If f is a conserved quantity then [f,p;lz5 =0,1<i<n
3. If f is a conserved quantity then [f, gz =0,1<i<n
4. There exists a canonical transformation (7, ) — (Q, P) such that
[f,9lzs # [f.9lgp for some f,,
Options 1.1
2.2
3.3

4.4

Options 1.1
2.2
3.3
4.4

) 3398932100
: 3398938169
Option 2 ID : 3398938170
Option 3 ID : 3398938171
Option 4 ID : 3398938172
Status : Marked For Review

Chosen Option : 3

Q.27
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The critical point (0,0) for tAE¥y/EPaF"YF RTAHSHs
x'(t) =x%+y?—2x
y'(t) = 3x% —x + 3y

isa

1. stable point

2. source point
3. saddle point
4 ol

Options 1. 1

Option 2D :
Option 3D :
Option 4 ID :

Status :
2n Option : --

Options 1.1
2.2
3.3
4.4

Question Type : MCQ

Question ID : 3398932103

Option 1 ID : 3398938181

Option 2 ID : 3398938182

Option 3 1D : 3398938183

Option 4 ID : 3398938184

Status : Marked For Review

Chosen Option : 1
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Email: rmcrqirw"

Q.29 Let X,, X, be i.i.d. random variables from an exponential distribution with mean

el where @ > 0. Suppose that the prior distribution for @ is exponential with

mean 1. Then the Bayes estimator for 6 with respect to the squared error loss
function is
Xi+X,
i s 1
2

2. X1+X5
3

3 FGE
1

4. 3(X14Xa2)

Options 1.1

2.2

. has normal distribution with mean k
he variance of Xy, is

Option 4 ID :
Status :

)1 3398938198
: 3398938199

3398938200
Not Answered

Chosen Option : --

Q.31
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Consider the set Q of all 4-tuples (x,, x,EM3ll) GNPESYESLQBINRAEETN «, > 0
and  x; +x, + x5 +x, = 90. If a point is selected uniformly at random from
(1, the conditional probability that x; = 1 given that x; = 44 and x, = 44
equals

T
2,
3.

4,

e e wle &=

Options 1. 1
2.2
3.3
4.4

98938236
: Not Answered

Q.33 In a simple linear regression model, assume that the random eri
£1,&, ..., &, @re uncorrelated and homoscedastic. T
the residuals ey, e, ..., e, are

1. uncorrelated and homoscedastic
2. correlated and homoscedastic
3. uncorrelated and heteroscedastic

4, correlated and heteroscedastic
Options 1. 1
2.2

27th Dec 2019 - {24)
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CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772
Email: cmscsirnet@gmail.com

Question Type : MCQ
Question ID : 3398932113
Option 1 ID : 3398938221
Option 2 ID : 3398938222
Option 3 ID : 3398938223
Option 4 ID : 3398938224

Status : Not Answered

Chosen Option : --

Options 1.1
2.2
3.3
4.4

Am. Py = oo
P 1 e
Hm Pij” = Toaz Or &

Question Type : MCQ
Question ID : 3398932108
Option 1 1D : 3398938201
Option 2 ID : 3398938202
Option 3 ID : 3398938203
Option 4 ID : 3398938204
27th Dec 2019 - {25)
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Phone: 8113887329, 8075791772

Email: cmscsirnet@gmail.com Status : Not Answered
Chosen Option : --

Q.36 The goal is to estimate the unknown parameter u as accurately as possible.
You are offered a choice between two data sets. Assume n = 2.

(A): Xy, Xy, .., X, i.i.d. normal with mean x and variance 1
(B): Y,Y,,..,Y,iid. normal with mean 2y and variance 2
Then

1.  data(A) is preferable
2. data(B)is pfeferable

4. which data
Options 1.1
2.2

Question Tyf
O 1D

Optio ID:
Option'21ID :
Option 31D :
Option 4 ID :
Status :
Option : --

d. Uniform(0, 8) random

Options 1. 1
2.2
3.3
4.4

1 3398932110
Option 1 ID : 3398938209
Option 2 ID : 3398938210
Option 3 ID : 3398938211
Option 4 ID : 3398938212
Status : Not Answered
Chosen Option : --

Q.38
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X is a Poisson random variable with pdranadictPECTHBLAIMMLFARribution
of ¥ given X =k is Binomial (k,) for k = 1 and P(Y = 0|X =0) = 1. Then
the distribution (unconditional) of ¥ is
1 Poisson(10)
2. Poisson(20)
3 Poisson(40)

4. Binomial (20,3)

Options 1.1

2.2
3.3
4.4

Status : Not Answered
Chosen Option : --

Q.40
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Suppose B = ((by;)) ~Wp (k%) wish I highssamelganal.com , _ 4,
and ¥ = ((a; J)) is a positive definite matrix. Then the distribution of

Ef::[ 2?:; bij .
Zf,p-—.l z}Ll UU

1. 8

2. x:

3 %
Options 1. 1

2.2

3.3

4.4

nces

X over C. Let w = /3,

Options

Option 3 IB
Optio D : 3398938300

tatus : Marked For Review
osen Option : 2

Q.2
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Consider the infinite SJBriESEmalI: cmscsirnet@gmail.com

Z( 1" cc;s-(i_nxg , where x € R,

The largest set on which it converges uniformly is:

1. R
2. R\{0}
3. R\{nm

4.
Options 1.1
2.2
3.3
4.4

Option 21D :
Option 31D :

rF
pver [R, whe
'W)z (17,

Ifnner product space
g an om\ﬁgonal
r g argt

1aliza biefiovern"

Options 1. 1
2.2
3.3
4.4

Wi .
Question ID : 3398932134

Option 1 ID : 3398938305
Option 2 ID : 3398938306
Option 3 ID : 3398938307
Option 4 ID : 3398938308
Status : Not Answered
Chosen Option : --

Q.4
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Let I be any interval in R. Let £, g: I - BRIk GRISGH BeH@ANA! EPlions. If
h(x) = f(x)g(x), then h is uniformly continuous if

1.

either f or g is bounded

2, I is compact

3. I is bounded

4. I is closed
Options 1. 1

2.2

3.3
4.4

Q.6 Forx,y € R* define (x,y) = x'Ay, where A is a 2 % 2 matrix witt nt
For which of the following choices of A does this deflne an inner product on R??

1. a=[f 3

& 4= ;3 —21]

5. A=l 7

% A= —21 _11]
Options 1. 1

398938244

: Marked For Review
14
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3.3
4.4

Question Type : MSQ
Question ID : 3398932133
Option 1 1D : 3398938301
Option 2 ID : 3398938302
Option 3 ID : 3398938303
Option 4 ID : 3398938304

Status : Not Answered

Chosen Option : --

Q7 LetV be afinite dimensionz
following are true?
1.

f finitely many prope
_ nﬂ]e in I;cﬂ:-:_:\iyf_ a

Options

Options 1. 1
2.2
3.3
4.4

Question Type : MSQ
Question ID : 3398932130
Option 1 ID : 3398938289
Option 2 ID : 3398938290
Option 3 ID : 3398938291
Option 4 ID : 3398938292

Status : Not Answered

Chosen Option : - 27th Dec 2019 - {31)
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Q.9 Let (X,d) be a metric space. Which of the following are NOT in general a
metric on X7

1. pxy) = dx)?

2. p(x,y) = Jd(x,y)

3. p(x,y) = min{d(x,y),1}

0ifd(x,y) =0

T pley) = {1 ifd(x,y) >0
Options 1. 1
2.2
3.3

Option 4 II

Chosen Option : 2

4.

Options 1.1
2.2
3.3
4.4
Question Type : MSO
Question ID : 3398932128
Option 1 ID : 3398938281
Option 2 ID : 3398938282
Option 3 ID : 3398938283
Option 4 ID : 3398938284
Status : Marked For Review
Chosen Option : 2,4
Q.11
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Let T be a 3 x 3 matrix with entriesSA ! EBRSRISCHRINRILABT linear
Xq 0
equations T (xz) = (0) Which of the following are true?
X3 0
1. Rank of T < 2 = the system has a non-zero solution
Rank of T <1 = the system has infinitely many solutions

3. Rank of T = 2 = any two solutions of the system are linearly
dependent

4.  Rankof T=1 = every

Options 1. 1
2.2
3.3
4.4

for x € [0,00). Theny

niformly
f derivatives {f,} convergesit

f, (1im /)

1 3398938261
Option 2 ID : 3398938262
Option 3 ID : 3398938263
Option 4 ID : 3398938264

Status : Marked For Review
Chosen Option : 1,2,3

Q.13
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Let T, T, be linear operators on R? suEiMlt $MECSiNEA@EMaH!thaTbllowing
are necessarily true?

1. 0 is an eigenvalue of T, or 0 is an eigenvalue of T,
2. There exists a nonzero vector w € R? such that T,w = T,w = 0
3. T2T1 =0
4 T,=00rT, =0
Options 1. 1
2.2
3.3

4.4

estion Type
Question IE

Q15 Letf:[a,b) - R be a'co
Flx) = ] f®

Then which of the following are true?

1. F need not be continuous

2. F is necessarily monotonic

3. F is necessarily bounded

4. F is Riemann integrable on [a, x] for every x € [a, b)
Options 1. 1

2.2
27th Dec 2019 - {34)
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3.3 Email: cmscsirnet@gmail.com

4.4

Question Type : MSQ
Question ID : 3398932122
Option 1 ID : 3398938257
Option 2 ID : 3398938258
Option 3 ID : 3398938259
Option 4 ID : 3398938260
Status : Not Answered
Chosen Option : --

Q.16 Let P(x) be a poly
which of the followi

Question Type :

w*CSIR NET&ISS

Options 1.1
2.2
3.3
4.4

Question Type : MSQ
Question ID : 3398932125
Option 1 1D : 3398938269
Option 2 ID : 3398938270
Option 3 ID : 3398938271
Option 4 1D : 3398938272

Status : MarkeehRL RRYIW. (35)




CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772

Email: cmscswnet@g{nall.com Chosen Option : 2,4

Q.18 For any interval 1 of R let BV (I) denote the space of all functions on I which
are of bounded variation. Then which of the following statements are true?

1 If f, g belong to BV ([a, b]) then the product f. g belongs to BV ([a, b])

2. If {f,,} is a sequence in BV ([a, b]) that converges to f pointwise, then
f belongs to BV ([a, b])
3. If f:[0, ) = R is a function such that f restricted to [n,n + 1] belongs
4. The function f(x) =
Options 1.1
2.2

3.3
4.4

Questio
Option 1 IC
Op ID:
Option 31D :
Option'41ID :
Status :

.
tbitrary non-empty set and let my(x,3) = x and 71,(x,y) =¥
1 R? onto the first and second coordinates respectively.

then 7, (K) and r,(K) are’both compact
i L‘-'--.-_i' 1 (K

and 7 ZCK) are connected

hosen Option : 1,2,

Option 31D :
Option 4 ID :

Status :
Chosen Option :

D': 3398938357
: 3398938358

3398938359
3398938360
Not Answered

Q.20
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Let X be a topological space and leEN@Hd BEEHESEAYRALGOSRts of X.
Suppose A U B and A n B are connected. Then, which of the following
statements are true?

1 At least one of 4 and B is connected

2. If A is closed and B is open, then both 4 and B are connected

3. If A and B are open sets, then both A and B are connected

4, If A and B are closed sets, then both A and B are connected
Options 1. 1

2.2
3.3
4.4

Q.22 Let f be a holomorphic function'en th: _
such that f () = 2= forn = 1,2, ... LetS(iii)den
oomplex number w. I hen, which of the following are true?

1. 3(f@i/2)) > 0and I(f(=i/2)) <0
2. 3(f@i/2)) < 0and 3(f(=i/2)) >0
3. 3(f(i/2)) > 0and I(f(-i/2)) >0
4. 3(f(i/2)) < 0and 3(f(-i/2)) <0

Options 1. 1
2.2
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3.3 Email: cmscsirnet@gmail.com

4.4

Question Type : MSQ
Question ID : 3398932137
Option 1 ID : 3398938317
Option 2 ID : 3398938318
Option 3 ID : 3398938319
Option 4 ID : 3398938320

Status : Not Answered

Chosen Option : --

4.
Options 1.

Options 1. 1
2.2
3.3
4.4

Question Type : MSQ
Question ID : 3398932136
Option 1 1D : 3398938313
Option 2 ID : 3398938314
Option 3 ID : 3398938315
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Email: cmscsirnet@gmail.com Option 4 ID : 3398938316
Status : Not Answered

Chosen Option : --

Q.25 LetD*={z€eC:0 < |z| <1} bethe punctured unit disc in the complex plane.

Suppose f:D* = C is a holomorphic function that satisfies |f(z)| < ﬁfar zZE€E
D*. Suchan f
i /B necessarily extends to a holomorphic function on the unit disc
2. necessarily has an essential singularity at z = 0
s has at most a simple pole at z =.6
4. can have a pole of ord
Options 1. 1

2.2

Option 4 ID
Status
Chosen Option

13398938334
: 3398938335
: 3398938336
: Answered
12,4

Q.27
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Let D = {z € C: |z| < 1} be the open ERAETAEIRREEADAL EPBE a non-
constant holomorphic function. Suppose that f(1/3) = 0. Which of the
following are possible values of | 7 (%)|?

1.

2. 3

3. A,

4 1
Options 1.1

2.2

3.3

4.4

C C[x, y] be an ideal. Ihic W :

‘amaximal ideal of C[x, y]
5 a prime ideal of C[x,y]
as infinitely many prime id

Option b
Opti ¢
Option 41D : 8

Q.29 Let R’ be the multiplicative group of n
following statements are true?
1. If H € R* is a subgroup such that x2 € H forall x € R*, then H = R*
2; If H € R* is a subgroup such that x® € H for all x € R*, then H = R*
3. There is no subgroup of R* of index 2

4, There is no subgroup of R* of index 3
Options 1. 1

2.2

3.3
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Question Type : MSQ
Question ID : 3398932140
Option 1 ID : 3398938329
Option 2 ID : 3398938330
Option 3 ID : 3398938331
Option 4 ID : 3398938332
Status : Not Answered
Chosen Option : --

1
2
4.
Options 1.
2

Ssys @ -,.:
P2 anlw? sin(6t — wt) +mgl cos &

o SINCE 2008

3 L= m(P0? +w?) + miwd Sm@=we

1.

2 a=%mt=ez-+ 8's

4 L= % mi?6? + mlw8? sin(6t — wt) + mgl sin 6
Options 1. 1

2.2

3.3

4.4

Question Type : MSQ
Question ID : 3398932159
Option 1 ID : 3398938405
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Email: cmscsirnet@gmail.com Option 2 ID : 3398938406
Option 3 1D : 3398938407
Option 4 1D : 3398938408
Status : Not Answered
Chosen Option : --

Q32 Consider the problem of minimizing /maximizing
n/8

Jvl = f ("% + 2yy' — 16y%)dx,
0

n extremizer of / which is not a minimizer

1
2
3, _
4 ' extremizer of J which is not a maximizer
1

Options 1. 1

i) = cos x, then the'i

(%)= cosx, then the

2. ffi=2andf
n

3. Forevery 2 € Rand f(

solution
4. For every A € R and f(x) = sin 2x, the integral equation has unigque
solution
Options 1. 1
2.2
3.3
4.4

Question Type : MSQ
Question ID : 3398932158
Option 1 ID : 339888848dc 2019 - {42)
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Phone: 8113887329, 8075791772

Email: cmscsirnet@gmail.com Option 2 1D : 3398938402

Option 3 1D : 3398938403
Option 4 ID : 3398938404
Status : Not Answered
Chosen Option : --

Q.34 Consider the first order initial value problem y'(x) = —y(x),x > 0,y(0) =1

Options 1. 1

Options 1. 1

and the corresponding numerical scheme 4 (%) -3 (%) ==y, ,

with y, = 1,¥, = e™", where h is the step size. Then which of the following
statements are true?

1. The order of the scheme is
2. The order of the scheme
3. |y —y(ah)jSes

2.2

pe
Ques ID:
Option'1ID :
Option 21D :
Option 31D :
Option 4 1D :

2.2
3.3
4.4

Question Type :
Question ID : 3398932155
Option 1 ID : 3398938389
Option 2 ID : 3398938390
Option 3 ID : 3398938391
Option 4 ID : 3398938392

Status : Not Answered

Chosen Option : --

Q.36

27th Dec 2019 - {43)




CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772

Letp € €*[0,1], g € C[0,1] and p be pdsHi@l: eBASRIEI QMBI G030 of the
boundary value problem

p(®O)x"(8) +p’(O)x'(t) + q(O)x(t) = Bx(¢),t € (0,1),x'(0) = 0 = x'(1), where
BER. If j'ﬂl q(t)dt > 0 then which of the following statements are true?

1. Be(—-4-1]

2. pe(-10]

3. pe(0m)

4. B € (—oco, —4]
Options 1.1

2.2

3.3

4.4

Option 4

Chosen Option :

IR be a nonzero contir
uch that for ¢ € Cla, b], % € [,

b
ole)dt, (5¢)(x) = j K (% O p(d,

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID : 3398932157
Option 1 ID : 3398938397
Option 2 ID : 3398938398
Option 3 ID : 3398938399
Option 4 ID : 3398938400

Status : Not Answered

Chosen Option : --

Q.38
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Let B(0,1) = {(x,y) € R%:x? + y? < 15 M@bnSiBErIl B QeI Bhtisfying

Au+ Au = 0 in B(0,1), g—“ =0 on d(B(0,1)). Then

n

1 Az0

2. A<0

3 A=0impliesu=0

4, A = 0 implies u is a constant
1.1

2.2

3.3
4.4

Option 31D :
Option 41D :

Status :
Chosen Option : --

: 3398938382
3398938383
3398938384

Not Answered

Q.40
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Let g: R - R be locally Lipschitz and BH@ll €s¢5ireat@gmaH! wAh of the
following statements are true for the initial value problem

x'(6) = g(x(t)), x(0) =x, ER.

1. There exists a local solution

2, For any x, € R, the solution exists on [0, =)

3. There is a finite time blow-up for some x,

4. All the solutions are bounded on [0, )
Options 1. 1

2.2

3.3
4.4

y'(©) =y*@),t>0.
5 be positively invariant setif the
(0)) €S. Thenfort =0, ifthe s
Then which of the following

3398938365
: 3398938366
on 31D : 3398938367
Option 4 ID : 3398938368

Status : Not Answered
Chosen Option : --

Q.42
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If u(x,) is the solution of tHe TSHEWIFY I5HE8BHh™
Mg::lL * _;,’yE: 1, such that u(xo(s), ¥o(s)) = uy(s), where

Xols) = 5, plE) =5 upls) = 5/2. Then u(2,1) is equal to

1 12

2. —-(1/2)

3 1

4 -1
Options 1. 1

2.2

3.3

4.4

4,
Options 1. 1
2.2
3.3
4.4

D' 3398932173
1 3398938461
Option 2 ID : 3398938462
Option 3 ID : 3398938463
Option 4 ID : 3398938464
Status : Not Answered
Chosen Option : --

Q.44

27th Dec 2019 - {47)




Options 1.1

Options 1.1
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Phone: 8113887329, 8075791772

Let X,, X5, ..., X, be a random sample fEORAH - IMBSIEHREMALFOMand let
¥, .., ¥p be a random sample from a continuous distribution G. We want to test
the hypothesis H,: F(x) = G(x) Vx versus Hy: G(x) = F(x — 8),vx, for some
fixed 6 (# 0). Assume that Xy, ..., X, Y1, ..., ¥, are independent. Let R,
denote the rank of ¥; in the combined ordering and S = ¥7_; R, ;. Which of
the following are true?

1, UnderHo,P[Rm,,,-:k]=$ferk=l,2,---,n+m

2. If the observed value of § is w then the large sample test does
not reject ii; atlevel g, forall0 < @ < 1

2.2
3.3
4.4

Option 3D :
Option 4 ID :
Status :

2.2
3.3
4.4

Ouestion ID : 3398932171
Option 1 ID : 3398938453
Option 2 ID : 3398938454
Option 3 ID : 3398938455
Option 4 ID : 3398938456

Status : Not Answered
Chosen Option : --

Q.46
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X is a random variable with normal disEB@oSRSGEHENELINaHEM R ance 4.
Which of the following are true?

1. E[X?]=18

2. Var(X?) = 48

3. E[min(X,3)] <1

4.  E[X+1D?<E[X-1)7

Options 1. 1

2.2

3.3
4.4

educible then P? is not irreducible

irredugible then %s irreducible

is irreducible and aperiodic, then P* is irrec
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Consider a LP problem: Email: cmscsirnet@gmail.com

Maximize z = ¢'x subjectto Ax < b, x = 0.

Which of the following are true?

1. If the primal has an optimal solution, then the dual also has an optimal
solution.

2 The primal can have an optimal solution and the dual may have no
feasible solution.

3. The dual can have an optimal solution and the primal may have no
feasible solution.

4, If the primal has no feasible:solution t
solution:

Options 1.1
2.2
3.3

4.4

‘random variables on a probability

shiof X and ¥ is normally distribute
1 are T - Sl

 conditional distribution of X given ¥ = y and the conditiol
ution of ¥ given X'= xare normal for all x and y.

Options 1.1
2.2
3.3
4.4

Question Type : MSQ
Question ID : 3398932172
Option 1 ID : 3398938457
Option 2 ID : 3398938458
Option 3 ID : 3398938459
Option 4 ID : 3398938460

Status : Not Answered

Chosen Option : --

Q.50
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Suppose Y; and Y, are i.i.d. Unifofr@e9MRRREEEIHADEHRe M =
Max{Y;, ¥»}. Which of the following are confidence intervals for 8 with
confidence coefficient 0.917

1.

2.

3.

4.

Options 1. 1

2.2
3.3

2.2
3.3
4.4

Question Type :
Question ID :
Option 1 ID :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

MSQ
3398932165
3398938429
3398938430
3398938431
3398938432
Not Answered

Chosen Option : --

Q.52
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For a 2* factorial experiment with 4 trEARAREMECREIPERA R Mevels, 4
blocks of size 4 each were available. If the key block is

(1) (bc) (acd) (abd)
which of the following treatment combinations are confounded?

1. ABC

2: ABD

3. ACD

4. BCD
Options 1. 1

2.2

3.3

4.4

Option 4

Chosen on :

Option 4 ID : 3398938480
Status : Not Answered
Chosen Option : --

Q.54

27th Dec 2019 - {52)




CENTRE FOR MATHEMATICS & STATISTICS TRIVANDRUM
Phone: 8113887329, 8075791772

Let X5, X5, ..., X,, be i.i.d. from Poiss&EMgl) GRS MSLPIBGHGER testing
Hg.: ;‘l. < Ao versus Hl:l > Ao.

Let Test A be the test that rejects H,, if 3/, X; > k where k is such

that PR, X; > kA= 4y) =a.

Let Test B be the test that rejects H, if X7, X; < k where k is such

that PG, Xi <kll=1y) =a.

Then,

Test A is the likelihood ratio test.of

L

Options 1. 1

Option1 ID :
Option 21D :
Option 31D :
Option 4 ID :

fails at time > given 7' > Zis »

2=t

Options 1. 1
2.2
3.3
4.4

1 3398932175
Option 1 ID : 3398938469
Option 2 ID : 3398938470
Option 3 ID : 3398938471
Option 4 ID : 3398938472
Status : Not Answered
Chosen Option : --

Q.56
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Email: cmscsirnet@gmail. 2
Let X, X5, ... be ii.d. with mean u and variance o > 0. Let gn = M

Then which of the following are true?

n

1. Z, — u* with probability one
2. If u = 0 then Z,, = o« with probability one

Z T T
3 If u = 0 then g—;‘ converges in distribution
4, If u = 0 then :ZT% converges in distribution to standard normal
Options 1.1

2.2
3.3
4.4

1 3398938433
1 3398938434
Option 3 ID : 3398938435
Option 4 ID : 3398938436

Status : Not Answered
Chosen Option : --

Q.58
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Which of the following conditions impHFIR&H XSS oSN IBRHRICIT, - oo ?
1, X2 — X2 with probability one
2. ElG—XF]-=90
3. E[e™n] > E[e* ] forall A € R
4. X, = X with probability one
Options 1. 1
2.2

3.3
4.4

398938424
s : Not Answered

Let (¥;,X,) i = 1,...,n be observations where X| are the regressers

response variables which follow Bernoulli dlstrlbutlon W|th probablllty of
success n(X;), i = 1,..,n. Suppose the log-odds ratio is a linear function with
intercept « and slope . Which of the following statements are true?

T If § > 0 then n(x) is an increasing function of x
2. E[Y [ X] == p=58%
3. Ifx= —Ewithﬁ#-— 0, then m(x) = 5

4, Ifx= —%then n(x + ¢) = n(x — ¢) for any c.
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Options 1. 1 Email: cmscsirnet@gmail.com

2.2
3.3
4.4

Question Type : MSQ
Question ID : 3398932170
Option 1 ID : 3398938449
Option 2 ID : 3398938450
Option 3 ID : 3398938451

Option 4 ID : 3398938452

Status : Not Answered

- i e ==
ANIPEAF=UNALALY"
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Exam_Date:27.12.2019

CENTRE FOR MATHEMALFS
JOINT CSIR -UBONET HES

SNO _ QUESTION ID CORRECT OPTION(S)
001 3398932058 3398938003 021 3398932078
002 3398932059 3398938007 022 3398932079
003 3398932060 3398938009 023 3398932080
004 3398932061 3398938013 024 3398932081
005 3398932062 3398938019 025 3398932082
006 3398932063 3398938021 026 3398932083
007 3398932064 3398938025 027 3398932084
008 3398932065 3398938030 028 3398932085
009 3398932066 3398938035 029 3398932086
010 3398932067 3398938038 0303398932087
011 3398932068 3398938041 031+8398932088
012 3398932069 ; 3398938048 032 3398932089
013 3398932070 3398938050 033 3398932090
014 3398932071 3398938055 034 3398932091
015 3398932072 13398938058 035 3398932092
016 3398932073 " 3398938062 036 3398932093
017 33989320747 3398938066 037 3398932094
018 3398932075 3398938070 038 3398932095
019 3398932076 3398938073 039 3398932096
020 3398932077 3398938079 040 3398932097
041 3398932098
042 3398932099
043 3398932100
044 3398932101
0453398932102
0463398932103
047 3398932104
048 3398932105
049 3398932106
050 3398932107
051 3398932108
052 3398932109
053 3398932110
054 3398932111
055 3398932112
056 3398932113

NB:Correct Option ID "...............

3398938083
3398938085

3398938091
3398938096

3398938100

3398938102

3398938106

3398938111

3398938115
3398938118
3398938121

3398938125

3398938132

3398938136
3398938137

3398938143
3398938146

3398938151

3398938155
3398938160
3398938161
3398938167
3398938171

3398938174

33898938179
33898938181
3398938187

3398938189

3398938195

3398938200

3398938204

3398938205

3398938211
3398938215
3398938219

3398938224

' means the question cancelled

oy,

SNO QUESTION IDF [TRRECTIORTIS

(GN9

063
064

065

066

067

068

069
070
071

072
073

074
075

076
077

078

079
080
081
082
083

084

085
086
087

088

089
090

091

092

093
094
095

096

3398932118
3398932119

3398932120
3398932121

3398932122

3398932123

3398932124

3398932125

3398932126
3398932127
3398932128

3398932129

3398932130

3398932131
3398932132

3398932133
3398932134

3398932135

3398932136
3398932137
3398932138
3398932139
3398932140

3398932141

3398932142
3398932143
3398932144

3398932145

3398932146

3398932147

3398932148

3398932149

3398932150
3398932151
3398932152

3398932153

ALBHHGS TRIVANDRUM subject:Mathematical Sciences

naPARé ?%y on which result will be compiled
NN QHESTHAN ID  CORRECT OPTION(S)

SNO _QUESTION ID _CORRECT OPTION(S)

3398938244

3398938245
3398938246
3398938248

3398938249
3398938254
3398938255

3398938258
3398938260

3398938261
3398938262
3398938263

3398938265
3398938268

3398938269
3398938270
3398938272

3398938275
3398938277

3398938282
3398938283
3398938284

3398938285
3398938286

3398938289
3398938290

3398938293

3398938298
3398938299

3398938304
3398938307
3398938308

3398938309
3398938310
3398938311

3398938315
3398938317
3398938323
3398938328

3398938330
3398938332

3398938333
3398938334

3398938340
3398938342
3398938346
3398938347

3398938349
3398938351
3398938352

3398938355
3398938356

3398938357
3398938359

3398938361
3398938362
3398938364

3398938365
3398938366
3398938368
3398938371
3398938374

3398938377
3398938380

3398938382
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Exam_Date:27.12.2019 CENTRE FOR MATHEMAY! Abkh
JOINT CSIR -u&b%@:r&%

SNO  QUESTION ID CORRECT OPTION(S) SNO QUESTION IDE [oRik

057 3398932114 3398938227 097 3398932154 3398938385 ,
3398938387
058 3398932115 3398938231 098 3398932155 3398938391

059 3398932116 3398938235 099 3398932156 3398938393 ,
3398938396

060 3398932117 3398938238 100 3398932157 3398938397 ,
3398938398 ,
3398938400

101 3398932158 3398938401
3398938402 ,
3398938403

102 3398932159 3398938406 ,
3398938407

3398932160 3398938410

106 3398932163
107 3398932164

108 3398932165

115 3398932172 3398938458
8938460

98938461

339893
98932176 33989384

L

120 3

SINCE 20

27th De@201DeAL64A- { FiB)

NB:Correct Option ID * ' means the question cancelled 10/01/2020




